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gap t 

Luka t) = Aktywa t t

Aktywa Pasywa
Wrażliwe 500 6% 600 3%
Niewrażliwe 300 8% 220 2%
Niepracujące 200 100

920
Kapitał

80
Suma bilansowa 1000 1000

GAP

net interest income

NII

net interest margin

NIM
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Wrażliwe 500 7% 600 4%
Niewrażliwe 300 8% 220 2%
Niepracujące 200 100

920
Kapitał

80
Suma bilansowa 1000 1000

GAP

NII

NIM

Akytywa Pasywa
Wrażliwe 500 5,5% 600 3,5%
Niewrażliwe 300 8% 220 2%
Niepracujące 200 100

920
Kapitał

80
Suma bilansowa 1000 1000

GAP

NII

NIM

 

Akytywa Pasywa
Wrażliwe 530 6% 600 3%
Niewrażliwe 270 8% 220 2%
Niepracujące 200 100

920
Kapitał

80
Suma bilansowa 1000 1000


